EAEEIEEES EEELEEL] BREaB S| TR | BoB | Br | TEEM | TREE | BEAY | 2EXER | BRaE
1 | 1101 | BBEETLY | REsA e e 1 2 EE | %aE | 305306 50 = %=
2 | 1101 | BaEETL | mEss BEEE e 1 2 EE | 2IRE | 203,204 | 45 = %=
3 | 1101 | BAEBTL | meEss BRELERE e 1 2 EE | ®@E | 407,408 | 40 = %=
4 | 1101 | BAEBETL | REsA 1EREEE e 1 2 EE | =% | 305306 | 40 = %=
5 | 1101 | BBEETLY | REsA EREENBES e 1 2 BB | Ba| | 307,308 60 = %=
6 | 1101 | BAHBTL | mBEss BENABER e 1 2 ElE | B¥E | 103,104 60 = %=
7 | 1101 | BaEETL | mEss ENRRAEENE e 1 2 ElE | m¥E | 107,108 30 = %=
8 | 1101 | BaEBETL | mEss BEGLOEEUER e 1 2 EE | ==& | 105106 30 = %=
9 | 1101 | BaEETL | mEss A EREERRTD e 1 2 EE | 2I%= | 407408 | 45 = %=
10 | 1101 | BBEETLY | REsA ANERED e 1 2 EE | #2® | 505506 35 = =
11 | 1101 | BBEETLY | ReEsA B EERELE e 1 2 EE | @71 | 403,404 | 40 = %=
12 | 1101 | BBEETY | ReEsA NEE BB AR e 1 2 EE | ®@E | 507,508 27 = %=
13 | 1101 | BBEETLY | ReEsA BETHLE e 1 2 BE | 2aB | 203204 | 40 = %=
14 | 1101 | BBEETY | ReEsA BNRINBEER e 1 2 EE | BExF | 305306 30 = =
15 | 1101 | BBEETLY | ReEsA St e 1 2 EE | EEm | 203,204 60 = %=
16 | 1101 | BAHBTL | —RBEaA EARER =0 e 1 2 EIE | m=x | 207,208 30 = %=
17 | 1101 | BBEETLY | ReEsA BEANE  BNBR TWARSE | e 1 2 EE | =X | 305,306 30 = =
18 | 1101 | BEHAETL | Reas EEER O e 1 2 EE | B | 505506 | 40 = %=
T | 1102 | BBBETL | ReEsA S e 1 2 EE | BB | 203204 60 = &=
2 | 1102 | BaEETL | mEss TEBER e 1 2 BB | ®EW | 503,504 60 = %=
3 | 1102 | BAEBETL | meEss BENABER e 1 2 ElE | m¥E | 107,108 60 = %=
4 | 1102 | BAEBETL | ReEsa @z B2 B A e 1 2 ElE | B¥E | 103,104 60 = %=
5 | 1102 | BBHBTL | —REsA MEmEER e 1 2 EE | BF®E | 205206 | 40 = %=
6 | 1102 | BAaHBTL | meEss BRELERE e 1 2 EE | @@= | 407,408 | 40 = %=
7 | 1102 | BEEETL | mEss NEE BB AR e 1 2 EE | ®@2 | 507,508 27 = %=
8 | 1102 | BaEBETL | mEss BEEE i 1 2 EE | 2IRE | 203,204 | 45 = %=
9 | 1102 | BaEETL | mEss HERRAT R AR e 1 2 EE | =X | 207,208 30 = %=
10 | 1102 | BB%ETY | ResA BE PHBAKES e 1 2 EE | =X | 305,306 30 = =
1102 | BRRETL | —MmBas TEREE e 1 2 EE | =% | 305306 | 40 = %=
1102 | BRRETL | —MmBas NBEAE e 1 2 BB M%ﬁ% 505,506 35 = =
1102 | BEBETL | REsd FEEEE] e 1 2 BE | o 305,306 50 = =
1102 | BEBETL | ReEsa BRGLENEEEAR e 1 2 E2E | B r 307,308 60 = %=
1102 | BRHRETL | —mBas BEEB D e 1 2 EE | @B | 505506 | 40 B %=
1102 | BEBETL | REsa BN ER e 1 2 EE | Z1AM | 20A20B | 40 = %=
1102 | ®@##BEDL | —RESA HEEAM e 1 2 21 “ﬁ':;a 30 2 2
1102 | BEHBEPL | —REsEsa ERRINEEEE e 1 2 EE | ExF | 405406 30 = =
1102 | BEHBEDL | —REsa EABNT  FUANSRERS e 1 2 EE | =X | 303304 | 40 = =




